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To understand how to compare groups by matching


one-to-one


Your Turn | Year 1 | Place Value (within 10) 

1 6 children are going to the beach. Are there enough beach balls for them? 



How many do they need? 



Can you draw a picture to show this? 


2 Which group do the eggs match? 


Draw a picture to show this.

3 Each snail would like a flower. 



Are there enough flowers?



How many more are needed?



Draw the flowers that are needed. 




For more resources and intervention support go to thirdspacelearning.com

To understand how to compare groups by matching

one-to-one


Your Turn | Year 1 | Place Value (within 10)

Question 
Number

Question Answer

1 6 children are going to the beach. 
Are there enough beach balls for 
them? 


There are only 5 balls.


There would not be enough 
beach balls for each person.


6 balls would be needed for each 
person to have a ball.


6 balls (and 6 people if desired) 
should be drawn.

2 Which group do the eggs match? The black cats match the eggs. 
There are 4 eggs and 4 black 
cats.

3 Each snail would like a flower. 


Are there enough flowers?


How many more are needed?


Draw the flowers that are needed. 

There are not enough flowers. 2 
more flowers are needed to 
match the snails.




